.=.x1

1=1x1
IT=Tx1
IN=1x1
re=¢e¢x1
P.=0x1
F1=1x1
er=vxA
EA=AXT
0 =19x1
1.=1.x1
M=11x1

Vi=1Tx1

.=.x 1T
IT=1xIT
e=rxIr
M=rxIT
EA=EXIT
1.=0oxIT
Vi=1xIT
Ae=VXIT
N=AxIT
I[.A=9xI1T
IT.=1.xIT
IFT=11xIT

lee=1TxIT

=.Xo0
o=1xo
l.=Txo
lo=VFxo
f.=¢&xo
fo=o0xo0
. =1Xxo
Fo=Vxo
¢.=AXo
to=9xo0
o.=1.xo0
co=11xo0
1.=1Txo

.=.x 1
IT=1xI1l
T=rxIlI
Fr=vxll
te=ex1l
co=o0oXxlI
M=1x1l
W=VxII
M=AX1I
@=9ax1I
I.=1.x1Il
ITh=11x11
I¥r=1Tx1I

=.x¢
t=1x¢
A=Tx¢
IT=rx¢
M=¢&¢x¢
N.=ox¢
Te=1x¢
TA=Vx¢
FI=Ax¢
M=9x¢
t.=1.x¢
te=11x¢

EN=1TXx¢

=.xI
l.=1x1.
r.=Txl.
V.=txl.
Eo=ex1.
o.=o0oXI.
1.=1x1.
V.=VxI.
A =AX1.
9. =9x1.
l..=1.x1.
I.=1IxI.

—

IT.=1Tx1.

=XV
P=1xv
1=Txt
I=rxvr
IT=¢xy
lo=oxV
IN=1xVt
TI=vxvt
Te=AxVy
Tv=Aaxt
¥.o=1.xt
Fr=11xv

P1=1Txr

.=.x1
9=1x19
IN=Tx19
TV=rxA
M=¢xA9

to=o0x19
o¢=1x1
w=vxAa
Vi =AxA
Al =9x19
. =1.x19
@¥@=11x19

I.A=1Tx1

.=.xT
T=1xT
¢=TxT
1=rxT
A=E&xT
l.=0oxT
IT=1xT
1¢=VxT
IT=AxT
IN=9xT
r.=1.x¥
TT=11xT¥

Te=1TxT

.= . XA
A=1xA
IT=TxA
Te=YxA
Fr=¢xA
E.=0xA
EA=T1XA
o1=VxA
18 =AxA
Vi =9xA
A.=1.xA
AM=11xA

.=.x|

I=1xI
T=rxl
=rxl
E=¢exl
o=oxl
1=1x1
V=VxI
A=AxI
I=9x1
l.=1.x1I

I=1Ixl

IT=1Tx1

.=.XxV
V=1xV
le=TxV
f=rxv
TA=¢xV

Fo=o0oxV
er=1xV
E9=VxV
ol1=AxV
w=axV
V.=1.xV
W=11lxV

P =1TxA

A= 1TxV

X =9

§ X

=
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1x0=0
1x1=1
1x2=2
1x3=3
1x4=4
1x5=5
1x6=6
1x7=7
1x8=8
1x9=9
1x10=10
1x11=11

1x12=12

/

7x0=0
7x1=7
7x2=14
7x3=21
7x4=28
7x5=35
7x6=42
7x7=49
7 x 8 =56
7x9=63
7x10=70
7x11=77
7x12=84

2x0=0
2x1=2
2x2=4
2x3=6
2x4=8
2x5=10
2x6=12
2x7=14
2x8=16
2x9=18
2x10=20
2x11 =22

2x12=24

8x0=0
8x1=8
8x2=16
8x3=24
8x4=32
8x5=40
8x6=48
8 x7 =56
8 x 8 =64
8x9=72
8x10=280
8x11 =88

3x0=0
3x1=3
3x2=6
3x3=9
3x4=12
3x5=15
3x6=18
3x7=21
3x8=24
3x9=27
3x10=30
3x11=33

8x12=96

3x12=36

9x0=0
9x1=9
9x2=18
9x3=27
9x4 =36
9x5=45
9x6=>54
9x7=63
9x8=72
9x9=281
9x10=90
9x11=99
9x12=108

4x0=0
4x1=4
4x2=8
4x3=12
4x4=16
4x5=20
4x6=24
4x7=28
4x8=32
4x9=36
4x10=40
4x11=44

—

4x12=48

10x0=0
10x1=10
10x2=20
10x3=30
10x4=40
10x5=50
10x 6 =60
10x7=70
10x8=80
10x9=90
10x 10 =100
10x11 =110

5

5x0=0
5x1=5
5x2=10
5x3=15
5x4=20
5x5=25
5x6=30
5x7=35
5x8=40
5x9=45
5x10=50
5x11=55
5x12=60

11x0=0
MMx1=11
11x2=22
11 x3=33
11x4=44
11 x5=55
11 x6 =66
Mx7=77
11 x8 =88
11x9=99
11 x10=110
11 x11 =121

10x12=120

11 x12=132

6x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x5=30
6 x6 =36
6x7=42
6 x8=48
6x9=54
6 x10=60
6 x11 =66
6x12=72

—

12x0=0

12x1=12
12x2=24
12x3 =36

12x4=48

12 x5 =60

12x6=72

12x7=84

12x 8 =96

12x9=108
12x10=120
12x11 =132

12x12=144



